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B.Com.(CORPORATE  SECRETARYSHIP)
DEGREE EXAMINATION, NOVEMBER 2010

First Semester

Corporate Secretaryship

BASIC FINANCIAL ACCOUNTING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

                                             Part A                       (10 × 2 = 20)

Answer all questions.

1. What is meant by Journal ?

SÔ¨@£k Gß£x ̄ õx ?

2. What is Trial Balance ?

C¸¨£õ#Ä GßÓõÀ GßÚ ?
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3. What is interest suspense account ?

Ámi AÚõ©zx PnUS GßÓõÀ GßÚ ?

4. What is an ‘‘Error of principle’’ ?

Âv¨¤øÇ GßÓõÀ GßÚ ?

5. What is Bill of Exchange ?

©õØÖa^mk GßÓõÀ GßÚ ?

6. What is meant by discounting the bill ?

ÁµÄUS›¯ Esi¯À uÒÐ£i GßÓõÀ GßÚ ?

7. What is meant by Joint venture ?

CønÂøÚPnUS GßÓõÀ GßÚ ?
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8. Who is Consigner ?

AÝ¨¥k öŒ#|º Gß£Áº ¯õº ?

9. Define : Farm Accounting.

£søn PnUSPÒ---- - --&C»UPn® ÁøµP.

10. Who is Consignee ?

AÝ¨¥k ö£Ö|º GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) Journalise the following transactions :

2010 Rs.

Jan. 1 Business started with Rs. 2,50,000

and cash deposited with Bank ... 1,50,000

3 Purchased Machinery on credit

from Rangan ... 50,000

6 Bought furniture from Ramesh for cash ... 25,000

12 Goods sold to Yesodha ... 22,500
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RÌUPõÝ® |hÁiUøPPÐUS SÔ¨@£k £vÄPøÍz

u¸P.

2010 ¹.

áÚÁ›1 Â¯õ£õµ® Bµ®¤US®@£õx EÒÍ

‰»uÚ® ¹. 2,50,000 ©ØÖ®

Á[Q°À öŒ¾zv¯ öµõUP® ... 1,50,000

3 µ[Pß Gß£Á›hª¸¢x

PhÝUS C¯¢vµ® Áõ[Q¯x ... 50,000

6 µ@©è Gß£Á›hª¸¢x ©øÚxøÍ¨

ö£õ¸Ò öµõUPzvØS Áõ[Q¯x ... 25,000

12 ¯@ŒõuõÄUS ŒµUøP ÂØÓx ... 22,500

(Or)
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(b) From the following information ascertain Gross profit and

Net profit :

Rs.

Opening Stock ... 50,000

Sales ... 9,00,000

Return Outward ... 20,000

Return Inwards ... 10,000

Purchases ... 3,50,000

Closing Stock ... 75,000

Wages ... 4,000

Salaries ... 45,000

Carriage Outward .... 7,000

Discount allowed .... 18,000

Depreciation ... 40,000
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RÌUPõq® ÂÁµ[PøÍU öPõsk ö©õzu »õ£®

©ØÖ® {Pµ »õ£® PnUQk.

¹.

Bµ®£ ŒµUS C¸¨¦ ... 50,000

ÂØ£øÚ ... 9,00,000

öÁÎz v¸¨£® ... 20,000

EÒ v¸¨£® ... 10,000

öPõÒ•uÀ ... 3,50,000

CÖva ŒµUS C¸¨¦ ... 75,000

T¼ ... 4,000

Œ®£Í® ... 45,000

öÁÎzyUS T¼ ... 7,000

uÒÐ£i öPõkzux ... 18,000

@u#©õÚ® ... 40,000
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12. (a) From the following particulars prepare Bank Reconciliation

Statement as on 30.06.2010 :

Bank balance as per cash book on 30.06.10 Rs.10,000.

Cheque issued but not presented into bank before 30.06.10

Rs.1,000. Cheque deposited but not credited by the bank

Rs.3,000. Interest credited in the pass book Rs.100.

30.06.2010 -&À •i²® BsiØPõÚ Á[Q Œ›Pmk®

£mi¯ø» ¤ßÁ¸® Â£µ[PøÍU öPõsk

u¯õ›UP.

30.06.2010-À öµõUP Hmiß£i Á[Q C¸¨¦

¹. 10,000. 30.06.2010&US •ß ÁÇ[P¨£mk®

Á[Q°À öµõUP©õUP¨£hõu Põ@Œõø» ¹. 1,000

Á[Q°À öŒ¾zv²® ÁµÄ øÁUP¨£hõu

Põ@Œõø» ¹. 3,000 öŒÀ@»miÀ ÁµÄ

øÁUP¨£mh Ámi ¹. 100.

(Or)
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(b) State the type of error involved in the following transactions

and mention whether it will affect the agreement of the Trial

Balance or not :

(i) A purchase of Typewriter for Rs.3,500 has been entered in

the  purchase book.

(ii) The total of the sales book is short by Rs.100.

(iii) Goods sold to Pasupathi for Rs. 2,500 has been debited to

Ragupathi’s account.

(iv) A credit sale to Kumar for Rs. 530 was entered as Rs. 350.

RÌUPsh |hÁiUøPPÎÀ EÒÍ ¤øÇPÎß

ÁøPPøÍ TÔ AøÁ C¸¨¦a @ŒõuøÚø¯

£õvUS©õ Gß£øu²® SÔ¨¤kP.

(A) ¹. 3,500&US Áõ[Q¯ umha”¨ ö£õÔ

öPõÒ•uÀ HmiÀ £v¯¨£mkÒÍx.
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(B) ÂØ£øÚ Hmiß Tmh¼À ¹.100 SøÓÁõP

C¸¢ux.

(C) £”£vUS ¹. 2,500 US ÂØÓ ŒµUQøÚ

µ S £ v ° ß  P n U Q À

£ØÖøÁUP¨£mkÒÍx.

(D) S©õ¸US ¹. 530&US PhÝUS ÂØÓ ŒµUS

öuõøP ¹. 350 GßÖ GÊu¨£mkÒÍx.

13. (a) A sold goods to B for Rs.10,000 on 1st January 2010.

A draw a bill upon him for 3 months for the amount.

‘‘B’’ accepted the bill and returned to ‘‘A’’. On due

date the bill was paid. Pass journal entries in the

books of A and B.
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áÚÁ› 1, 2010 --& À A  Gß£Áº B-US ¹. 10,000

©v¨¦ÒÍ ŒµUøP ÂØ£øÚ öŒ#uõº.

AzöuõøPUS A Áøµ¢u 3 ©õu ©õØÖa ̂ møh B

HØ¦ öŒ#x A &US AÝ¨¤ øÁzuõº. E›¯ |õÎÀ

C® ©õØÖa ^miØS £n® öŒ¾zu¨£mhöuÚU

öPõsk C¸Áµx HkPÎ¾® @uøÁ¯õÚ

SÔ¨@£mk £vÄPÒ u¸P.

(Or)

(b) What are the features of Bill of Exchange ?

©õØÖa^miß ]Ó¨¤¯À¦PÒ ̄ õøÁ ?

14. (a) M/s. Krishna and Company of Chennai, consigned 100 tape

recorders to Muruga and Company, Madurai. The cost of

each tape recorder was Rs.1,000. The consignors paid

insurance Rs.1,000, Freight Rs. 800. Accounts sales was

received from Muruga and Company, showing gross sale

proceeds of 80 units at Rs.1,200 each. The expenses paid

and deducted by them were :
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Rs.

Carriage 40.00

Established expenses 200.00

Commission at 5% 48,00.00

————

5,040.00

————

Prepare Ledger accounts in the  books of Consignor.

öŒßøÚ°À EÒÍ Q¸ènõ {ÖÁÚ® ©xøµ°À

EÒÍ •¸Põ {ÖÁÚzvØS 100 J¼ |õhõ

P¸Âø¯ ÂØ£øÚUS AÝ¨¤¯x. J¸ J¼

|õhõÂß Âø» ¹.1,000 AÝ¨¥k öŒ#uÁº

Põ¨¥miØS ¹. 1,000 ÁõhøPUS ¹. 800 öŒ»Ä

öŒ#uõº, 80 J¼ |õhõUPÀ ¹. 1,200 Ãu®

ÂØ£øÚ öŒ#uuõP ÂØ£øÚ PnUS ‰»®

öu›¢ux. AuØPõP PÈUP¨£mh öŒ»ÄPÒ

¤ßÁ¸©õÖ.
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¹.

ÁõhøP 40.00

ìuõ¤zuÀ öŒ»Ä 200.00

PÈÄ  5% 4,800.00

————

5,040.00

————

AÝ¨¥k öŒ#|º PnUQÀ @uøÁ¯õÚ

@£@µmøh u¯õ›UP.

(Or)

(b) What are the methods of Joint Venture Accounts ?

CønÂøÚ PnUQß ÁøPPÒ ̄ õøÁ ?

15. (a) What are the features of Investment Account ?

•u½mk PnUQß ]Ó¨¤¯À¦PÒ ̄ õøÁ ?

(Or)
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(b) Raja sells goods to his approved customers on ‘Sale or

Return’ basis at a profit of 20% on sales , treating as actual

sales on 15th December, goods costing Rs.1,000 were sent

to Latha Traders. No Confirmation has been received from

Latha traders until 31st December.

Give the necessary Journal entries in the books of Raja.

µõáõ Gß£Áº ÂØ£øÚ Âø»°À 20% »õ£®

øÁzx ÂØ£øÚz v¸¨£ •øÓ°À ÂØ£øÚ

öŒ#QÓõº. iŒ®£º 15 AßÖ ¹. 1,000 ©v¨¦ÒÍ

ŒµUSPÒ »uõ i@µhºì Gß£Á¸US

AÝ¨£¨£mhx. iŒ®£º 31 Áøµ Cx Œ®£¢u©õP

»uõ i@µh›hª¸¢x G¢u J¸ EÖvö©õÈ²®

Á¢x @ŒµÂÀø». µõáõÂß •uÀ SÔ¨@£miÀ

Cx Œ®£¢u©õP SÔ¨¦PøÍ u¸P.
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Part C (3 × 10 = 30)

Answer any three questions.

16. From the following particulars prepare a Bank Reconciliation

Statement as on 31-03-2009.

Overdraft balance as per Pass Book on 31-03-09 as Rs.13,095.

(i) Cheque deposited in bank not recorded in cash book

 Rs. 105.

(ii) Cheque received and recorded in cash book not sent for

collection Rs. 1,015.

(iii) Cheques issued for Rs. 15,075, but cheques for Rs. 9,075

alone were debited in the pass book.

(iv) Cheques paid into bank for Rs. 9,400 but cheques for

Rs. 3,550 alone not credited in the pass book.

(v) Insurance Rs. 250 paid by bank but not credited in cash

book.

(vi) Bank charges Rs. 30 was recorded twice in the cash book.

(vii) Interest of Rs. 1,400 debited in the pass book but not

recorded in cash book.
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¤ßÁ¸® uPÁÀPøÍU öPõsk Á[Q Œ›Pmk®

£mi¯ø» 2009&õ® Bsk ©õºa 31&® |õÐUS u¯õº

öŒ#P.

Á[Q @©ÀÁøµ¨£ØÖ öŒÀ¾ ¦zuPzvß£i 2009 ©õºa

31&À C¸¨¦ ¹. 13,095.

   (i) Á[Q°À öŒ¾zv¯ Põ@Œõø» öµõUP HmiÀ

GÊu¨£hÂÀø» ¹. 105.

(ii) ö£ØÓ Põ@Œõø» öµõUP HmiÀ GÊv¯¤ß

Á[QUS AÝ¨£¨£hÂÀø» ¹. 1,015.

(iii) ¹.15,075-US ÁÇ[Q¯ Põ@Œõø»PÎÀ ¹. 9,075

©mk® öŒÀ¾ ¦zuPzvÀ £ØÖ øÁUP¨£mhx.

(iv) ¹. 9,400-US Á[Q°h® öŒ¾zv¯ Põ@Œõø»PÎÀ

¹. 3,550 ©mk® ÁµÄ øÁUP¨£hÂÀø».

(v)  Põ¨¥k ¹. 250 Á[Q öŒ¾zv¯x BÚõÀ öµõUP

HmiÀ ÁµÄ øÁUP¨£hÂÀø».

(vi) öµõUP HmiÀ Á[QU Pmhn® ¹. 30 C¸ •øÓ

GÊu¨£mkÒÍx.
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(vii) Ámi ¹ .1,400 öŒÀ¾ ¦zuPzvÀ £ØÖ

øÁUP¨£mkÒÍx. BÚõÀ öµõUP HmiÀ

GÊu¨£hÂÀø».

17. Ramesh for the mutual accommodation of himself and Murali, draws

upon the latter a bill for 3 months for Rs. 800 on 1-1-2009. The bill

is discounted by Ramesh at 5% and half the proceeds are remitted

to Murali.

Murali at the same time, draws a bill at 3 months on Ramesh

for Rs. 400. After securing Ramesh’s acceptance, the bill is

discounted at 6% by Murali, who remits half the proceeds to

Ramesh. Murali becomes bankrupt on 31st March and 25%

in a rupee is received on 15th May as first and final dividend

from his estate.

Prepare Ledger account in the books of both the parties.
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µ@©è Gß£Á›ß £n ÁŒvUPõP, •µÎ Gß£Áº

¹. 800-&UP 3 ©õu Esi¯ø» 2009, áÚÁ› 1-&-À

HØÓõº. A@u |õÎÀ. µ@©è Esi¯ø» 5% Ãu®

Ámh® öŒ#uõº. AvÀ £õv öuõøPø¯ •µÎUS

AÝ¨¤Úõº.

•µÎ, µ@©è «x ¹. 400US 3 ©õu Esi¯ø»

Áøµ¯ Aøu AÁº HØÖ AÝ¨¦QÓõº. A@u

|õÎÀ,•µÎ 6 %  Ãu® Esi¯ø» Ámh® öŒ#x

öuõøP°øÚ ö£ÖQÓõº. £õv öuõøPø¯

µ@©èUS AÝ¨¦QÓõº. 31©õºa AßÖ •µÎ

vÁõÀ BQÓõº. GÚ@Á •µÎ°ß öŒõzv¼¸¢x

J¸ ¹£õ#US 25 Põ”PÒ Ãu® ©mk@© @© 15

AßÖ ö£Ó •i¢ux. @uøÁ¯õÚ @£@µmk

PnUSPøÍ C¸Áº HkPÎ¾® u¸P.
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18. A and B entered into a Joint Venture in timber. B is to be allowed a

commission on sales at 10% and profits are to be shared in the ratio

A 2/3 and B1/3. A provides timber from stock for Rs.10,000 and

incurs expenses amounting to Rs.1,000. B pays Rs.1,000 for

unloading and other non–recurring expenses. A drew upon B for

Rs. 6,000. The draft was accepted and A got it discounted for

Rs. 5.760. B sold 90 percent of the timber for Rs. 15,000 and took

over the remaining timber at cost plus 20 percent. B

settles his account by bank draft. Give the Journal

entries and the relevant accounts in the books of both

the parties.

©µ® ÂØ£x öuõhº£õP A &²®  B-²® J¸ CønÂøÚ

HØ£kzvU öPõshÚº.  B-UPõÚ ÂØ£øÚ PÈÄ

10 % C»õ£ |mh[PøÍ A 2/3 , B1/3 Ãu®

¤›zxUöPõÒÁx GÚ Ehß£õk. A , ¹. 10,000

©v¨¦ÒÍ ©µ•® AuØPõÚ öŒ»Ä ¹.1,000 ® öŒ#uõº.

¹.1,000 £õµzøu CÓUSÁuØS® v¸®£ {PÇõ

öŒ»ÄUS® öPõkzxÒÍõº.  B ,¹.6,000&US Esi¯À
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GÊv HØÖUöPõÒÍ¨£mhx. A¢u Esi¯ø» A

uÒÐ£iUS AÎzx ¹. 5,760 ö£ØÖU öPõshõº. 90%

©µ[PøÍ ¹. 15,000-&US B ÂØ£øÚ öŒ#uõº. «v

©µ[PøÍ AhUP Âø»US @©À 20% øÁzx ‘B’

øÁzxUöPõshõº. «v  öuõøPø¯ Á[Q Esi¯À

‰»® ‘B’ öŒ¾zvÚõº. SÔ¨@£k ©ØÖ® @uøÁ¯õÚ

PnUSPøÍ C¸Áµx Hmi¾® u¯õº öŒ#P.

19. The following Balances were extracted  from the books of Rahul

on 31st March 2009. Prepare the Final Accounts for the year ended

31st March 2009.

Rs. Rs.

Capital 8,000 Bank O/D 1,570

Drawings 600 Travelling expenses 300

Purchases 11,870 Cash 210

Sales 14,690 Stock 2,450

Debtors 7,580 Discount allowed 40

Return Inward 450 Bad debts recovered 250
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Rs. Rs.

Return Outward 350 Bills payable 1,350

Bank deposits 2,750

Rent 360

Salaries 850

Creditors 1,250

Adjustments :

(i) The closing stock on 31st March 2009 was

Rs. 4,200.

(ii) Write off Rs.80 as bad debts and create a reserve

for bad debts at 5% on sundry Debtors.

(iii) Three months rent is outstanding.
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µõSÀ PnUS HkPÎ¼¸¢x ©õºa 31,2009 AßÖ

C¸¨¦PÒ GkUP¨£mhx. CÁØÔ¼¸¢xÍ ©õºa 31,

2009 ® BsiØPõÚ CÖv PnUSPøÍ u¯õº öŒ#P.

¹ . ¹ .

•uÀ 8,000 Œ®£Í® 850

Gk¨¦ 600 PhÜ¢@uõº 1,250

öPõÒ•uÀ 11,870 Á[Q @©ÀÁøµ¨£ØÖ 1,570

ÂØ£øÚ 14,690 £¯na öŒ»Ä 300

PhÚõÎPÒ 7,580 öµõUP® 210

EÒ v¸¨£® 450 ŒµUQ¸¨¦ 2,450

öÁÎz v¸¨£® 350 uÒÐ£i ÁÇ[Q¯x 40

Á[Q øÁ¨¦ 2,750 ÁµõUPhß ö£ØÓx 250

ÁõhøP 360 öŒ¾zxuØS›¯

©õØÖa^mk 1,350
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***

Œ›UPmkuÀ :

(A) ©õºa 31, 2009 AßÖ CÖv ŒµUQ¸¨¦ ¹. 4,200

BP C¸¢ux.

(B) ÁµõUPhß ¹. 80 }USP ©ØÖ® PhÚõÎPÒ «x

 5 ŒuÃu® ÁµõUPhß Põ¨¦ HØ£kzxP.

(C) 3 ©õu ÁõhøP öPõk£h@Ási¯x.

20. What are the objectives of Farm Accounting ? Explain the special

features of farm accounting.

£søn PnUSPÎß @|õUP[PÒ GßÚ ? Auß

]Ó¨¦ A®Œ[PøÍ ÂÁ›.
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B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

First Semester

Corporate Secretaryship

PRINCIPLES OF MANAGEMENT

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A                    (10 × 2 = 20)

Answer all questions

1. What do you mean by Administration?



2. Is management an art?



3. What is meant by Planning?



AF-2299 BCS 1C2
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4. What is meant by ‘Strategy’?

‘’

5. What is span of management?



6. Why is line organisation called military organisation?



7. Define Directing.



8. What is Co-ordination?


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9. What is a Budget?



10. Define ‘Social Responsibility’.



Part - B                    (5 × 5 = 25)

Answer all questions

11 a. Distinguish management from administration.



(Or)

b. How can management by recognised as a profession?


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12 a. Explain briefly the various kinds of policies.



(Or)

b. State the obstacles in Planning.



13 a. Discuss briefly the process of organisation.



(Or)

b. What are the benefits of Decentralisation?


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14 a. State the importance of Communication.



(Or)

b. What are the characteristics of Coordination?



15 a. Write a note on : Management audit.



(Or)

b. Explain the need for Business Ethics.


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Part - C               (3 × 10 = 30)

Answer any three questions

All questions carry equal marks.

16. What are the different levels of Management? State its

functions.

    



17. Planning is the essence of Management - Elucidate.



18. Explain the principles of organisation.


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19. Discuss Maslow’s Theory of Motivation.



20. Define control and describe the process of control.





***
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B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

Second Semester

Corporate Secretaryship

MANAGERIAL ECONOMICS

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A                    (10 × 2 = 20)

Answer all questions

All questions carry equal marks

1. What is the difference between Economics and

Managerial Economics?

  



2. What do you mean by Wants?



AF-2300 BCS 2C1
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3. State the law of demand.



4. What is meant by Market Survey?



5. What do you mean by imperfect Competition?



6. Define Incentives.



7. What is price discrimination?



8. What do you mean by pricing strategies?


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9. State the meaning of business policy.



10. Define Deflation.



Part - B                    (5 × 5 = 25)

Answer all questions

All questions carry equal marks.

11 a. Explain the classifications of Wants.



(Or)

b. Describe the characteristics of Utility.


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12 a. Explain the nature of demand curve. Why it slopes

downwards?

    



(Or)

b. State and explain the law of diminishing marginal

utility.

  



13 a. Describe the characteristics of monopolistic

competition.



(Or)
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b. Explain the features of perfect competition.



14 a. When price discrimination is possible and profitable?



(Or)

b. What are the reasons for regulating the price of a

product?

   



15 a. Differentiate between inflation and deflation.



(Or)
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b. Explain the characteristics of business cycle.



Part - C               (3 × 10 = 30)

Answer any three questions

All questions carry equal marks.

16. Examine the nature and scope of Managerial

Economics.





17. Discuss the demand analysis for company’s products.


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18. Analyse the price-output determination under perfect

competition.



19. Discuss about the price strategy to be adopted for the

export products.





20. Explain the various phases of trade cycle.



***



1 AF-2302

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

Third Semester

Corporate Secretaryship

COMPANY LAW AND SECRETARIAL
PRACTICE - I

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A                    (10 × 2 = 20)

Answer all questions

1. What is Chartered Company?



2. Define ‘Prospectus’.

‘’

3. Who is Promoter?



AF-2302 BCS 3C1
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4. Define ‘Personal Secretary’.



5. Who is Routine Secretary?



6. Write short note on Registrar of Companies.



7. Write a note on Table B.



8. Who appoints first secretary of a company?


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9. When does a Company legally come into existance?



10. What are the two main purpose of Memorandum of

Association?



Part - B                    (5 × 5 = 25)

Answer all questions

11 a. What are the functions of Promoter?



(Or)
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b. What do you know about statement in lieu of

Prospectus?

  



12 a. Write a detailed note on “Advisory Committee”.

‘’

(Or)

b. What are the functions of Company Law Board?


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13 a. What are the different types of Secretaries?



(Or)

b. ‘A company secretary is a mere servant’. Is this view

correct?



14 a. Who may be appointed as a secretary?



(Or)
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b. ‘‘The Secretary is a link between the directors and the

shareholders of a company’’ - Discuss.

‘‘

’’

15 a. What are the duties of a secretary of the promotion

stage?

    



(Or)

b. Distinguish between memorandum of Association and

Articles of Association.

   


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Part - C               (3 × 10 = 30)

Answer any three questions

16. What are the consequences of Misstatements in

Prospectus?

    



17. What are the duties of Company Secretary?



18. What are the various agencies through which the

administration of the Companies Act 1956 is carried

out?

 





8 AF-2302

19. What are the functions of the Secretary as an

administrator?



20. Explain the Pre and Post in corporation duties with

regard to Public Companies.

      



***



1 AF-2304

B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, NOVEMBER 2010

Third Semester

(Corporate Secretaryship)

BUSINESS STATISTICS AND MATHEMATICS

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

                                Part A                       (10 × 2 = 20)

Answer all questions.

1. Explain primary data.

•uÀ {ø»¨ ¦ÒÎÂÁµ® £ØÔ ÂÍUSP.

2. What do you mean by classification ?

ÁøP¨£kzxuÀ £ØÔ } AÔÁx ̄ õx ?

3. Calculate the median of the following data :

12, 30, 22, 36, 17, 40.
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¤ßÁ¸® ÂÁµ[PmS Cøh{ø» ©v¨ø£ PnUQkP.

12, 30, 22, 36, 17, 40.

4. Explain Geometric Mean.

ö£¸UPÀ ŒµõŒ› £ØÔ ÂÍUSP.

5. What do you mean by Quartile deviation ?

PõÀ©õÚ Â»UP® £ØÔ } AÔÁx ̄ õx ?

6. Calculate coefficient of range for the following data :

100, 150, 50, 200, 250.

¤ßÁ¸® ÂÁµ[PÎ¼¸¢x Ãa”UöPÊ PnUQkP.

100, 150, 50, 200, 250.

7. Explain Seasonal variations.

£¸ÁPõ» ©õÖuÀPÒ £ØÔ ÂÍUSP.
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8. Define - Index numbers.

SÔ±mk Gs—Áøµ¯Ö.

9. Explain Exhaustive events.

•Êø©¯õÚ {PÌa]PÒ £ØÔ ÂÍUSP.

10. State Addition Theorem on Probability.

{PÌuPÂß TmhÀ @uØÓzøu GÊxP.

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) Discuss the requirements of a good questionnaire.

J¸ |À» ÂÚõzuõÐUPõÚ @uøÁPøÍ

P»¢uõµõ#P.

(Or)
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(b) Explain the merits of diagrammatic

representation.

ÂÍUP¨£h® Áøµu¼ß ]Ó¨¦UPøÍ ÂÍUSP.

12. (a) Calculate Mode from the following data :–

X : 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 80 –90

f : 18 37 45 27 15 8

¤ßÁ¸® ÂÁµ[PÐUS •Pmiß ©v¨ø£

PõsP.

X : 30 ---– 40 40 – 50 50 – 60 60 – 70 70 – 80 80 – 90

f : 18 37 45 27 15 8

(Or)

(b) Calculate Median from the following data :–

X : 20 - 25 25 - 30 30 - 35 35 - 40 40 - 45 45 - 50 50 -55  55 - 60

f : 50 70 100 180 150 10 70 60



5 AF-2304

¤ßÁ¸® ÂÁµ[PÐUS Cøh{ø» ©v¨ø£

         PõsP.

X : 20 - & 25 25 - & 30 30 - & 35 35 -& 40 40 -& 45 45 & 50 50 & -55  55 &- 60

y : 50 70 100 180 150 10 70 60

13. (a) Calculate the Mean deviation from the following

frequency distribution :–

X : 0 - 10 10 - 20 20 - 30 30 - 40 40 - 50

f : 5 8 15 16 6

¤ßÁ¸® Aø»öÁs £µÁ¾US ŒµõŒ› Â»UP®

PõsP.

X : 0 - 10 10 - 20 20 - 30 30 - 40 40 - 50

f : 5 8 15 16 6

(Or)
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(b) Calculate standard deviation from the following

data :–

X : 6 9 12 15 18

f : 7 12 19 10 2

¤ßÁ¸® ÂÁµ[PÐUS vmhÂ»UP® PõsP.

X : 6 9 12 15 18

f : 7 12 19 10 2

14. (a) Explain the uses of Index numbers.

SÔ±möhsPÎß £¯ßPøÍ ÂÍUSP.

(Or)

(b) Explain the method of Least squares.

SøÓ¢u ÁºUP •øÓø¯ ÂÍUSP.
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15. (a) Show that A (B C) (A B) (A C)       by

means of Venn diagram.

öÁs Áøµ£h •øÓ°À

A (B C) (A B) (A C)      I {ÖÄP.

(Or)

(b) A bag contains 4 white and 5 black balls. One ball

is drawn from the bag and is not replaced when

the second ball is drawn. Find the probability that

both balls of the two drawings are white.

J¸ Tøh°À 4 öÁÒøÍ 5 P¸¨¦ £¢xPÒ

EÒÍÚ. Cµsk £¢xPÒ JßÔß¤ß JßÓõP

GkUP¨£mhõÀ, •uÀ £¢øu «sk® Tøh°À

@£õhÂÀø» GßÓõÀ, Cµsk® öÁÒøÍ £¢uõP

C¸UP {PÌuPÄ PõsP.



8 AF-2304

Part C (3 × 10 = 30)

Answer any three questions.

16. Construct an Ogive curve and Histogram for the

following data :–

Marks : 0 - 10 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60

Frequency : 3 9 15 30 18 5

¤ßÁ¸® ÂÁµ[PÐUS KøPÆ ÁøÍ@Põk ©ØÖ®

öŒÆÁP¨£h® ÁøµP :

©v¨ö£sPÒ: 0 - 10 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60

Aø»öÁs : 3 9 15 30 18 5

17. Compute the mean, median and mode of the following

series :–

X : 0 - 10 10 - 20 20- 30 30- 40 40 - 50 50 - 60 60 - 70 70 - 80

f : 10 14 28 58 65 47 32 10
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¤ßÁ¸® öuõh¸US ŒµõŒ›, Cøh{ø» ©ØÖ®

•Pmiß ©v¨ø£ PnUQkP.

X : 0 - 10 10 - 20 20- 30 30- 40 40 - 50 50 - 60 60 - 70 70 - 80

f : 10 14 28 58 65 47 32 10

18. Find the Karl-Pearson’s co-efficient of correlation

between X and Y.

X : 5 7 3 1 9 12 8 3

Y : 8 9 5 4 9 13 7 9

PõºÀ ¤¯ºŒõÛß Ehß öuõhº¦UöPÊøÁ X ©ØÖ®

Y US PõsP.

X : 5 7 3 1 9 12 8 3

Y : 8 9 5 4 9 13 7 9
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19. Compute the Straight line trend by the method of

Least square to the following data :

Year : 1975 1976 1977 1978 1979 1980

Profit : 7 10 12 14 17 24

SøÓ¢u ÁºUP •øÓ°À ¤ßÁ¸® ÂÁµ[PÐUS

@£õUSU@Põk ÁøµP.

Bsk : 1975 1976 1977 1978 1979 1980

»õ£® : 7 10 12 14 17 24

20. If (A) , (B) , (C) ,n n n  175 175 145

(A B) , (A C)n n   110 95 , (B C) ,n   90

(A B C) ,n    250 find

(a) (A B C).n  

(b) (A C' ).n 

(c) (B C' ).n 

(d) (A ' B' C).n  
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(A) , (B) , (C) ,n n n  175 175 145

(A B) , (A C)n n   110 95 , (B C) ,n   90

(A B C) ,n    250 GÛÀ,

(a) (A B C).n  

(b) (A C' ).n 

(c) (B C' ).n 

(d) (A ' B' C)n   &ß ©v¨¦PøÍ PõsP.

***
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B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

Fourth Semester

Corporate Secretaryship

COMPANY LAW AND
SECRETARIAL PRACTICE - II

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part - A                    (10 × 2 = 20)

Answer all questions

All questions carry equal marks

1. Give the definition of ‘Director’ as given in the

Companies Act.



2. State the share qualification of a director.



AF-2305 BCS4C1



2 AF-2305

3. How is a Managing Director of a Company Appointed?



4. Who is a Manager?



5. When is a statutory meeting of a Company held?



6. What do you understand by Minutes?



7. State the need for investigation.





3 AF-2305

8. What is meant by Oppression?



9. Who is an official Liquidator?



10. What is Voluntary Winding up?



Part - B                    (5 × 5 = 25)

Answer the questions

All questions carry equal marks

11 a. State the position of the directions.



(OR)
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b. How can the shareholders remove a director? Explain.



12 a. State the provisions of the companies act regarding

manager.



(OR)

b. What are the disqualifications of a Managing

Director?



13 a. Distinguish between Motion and Resolution.



(OR)
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b. Draft a suitable notice for the Annual General

Meeting of a Public Company.





14 a. State the Powers of the Central Government of

prevent oppression and Mismanagement.

   



(OR)

b. Listout the types of Investigation.



15 a. What are the objects of Reconstruction or

Amalgamation?

   



(OR)
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b. Write a note on Creditor’s Voluntary winding up.

     



Part - C               (3 × 10 = 30)

Answer any three questions

All questions carry equal marks

16. In what different ways may a director of a company be

appointed? Explain.

 



17. Distinguish between Managing Director and whole-

time Director.


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18. Discuss the duties of the Secretary relating to Extra-

ordinary General meeting.





19. Who can be appointed as the Investigator? What are

his powers?





20. Enumerate the various grounds for compulsory winding

up.



***
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B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

Fourth Semester

Corporate Secretaryship

GENERAL LAW

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A                    (10 × 2 = 20)

Answer all questions
Each questions carry equal marks

1. What is meant by statute?



2. Define Judicial Decision.



3. What do you mean by preamble of the constitution?

   



AF-2306 BCS4C2
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4. What is meant by Sovereignty?



5. Define the golden rule of interpretation.



6. What do you mean by internal aids to interpretation?





7. Give the definition of Sale.



8. What do you mean by Gift?


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9. What is meant by Charges?



10. Define Warranties.



Part - B                    (5 × 5 = 25)

Answer all questions

All questions carry equal marks.

11 a. Explain the various sources of Indian Law.



(OR)

b. Describe the common law.


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12 a. Explain the various fundamental rights of Indian

Citizen.

 



(OR)

b. Narrate the scope of directive principles of State

Policy.



13 a. Distinguish between literal and logical interpretation.





(OR)
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b. Explain the mischief rule of interpretation with

Heydon’s case.





14 a. State the different kinds of mortgage and how is

mortgage by conditional sale effected?

   

    



(OR)

b. What is the difference between tenancy at sufference

and tenancy at will?

     


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15 a. Briefly explain the various conditions of registration.

    



(OR)

b. Differentiate between Mortgage and Charge.

   



Part - C               (3 × 10 = 30)

Answer any three questions

All questions carry equal marks

16. Discuss the importance of Custom as a source of law.

 


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17. What are cultural and educational rights? Explain

them citing leading cases.





18. Enumerate and explain various external aids to

interpretation.

   



19. How is gift of an immovable property effected? When is

gift considered void under the transfer of property Act?



     


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20. Examine the various types of charges.

   



***
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B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

Fourth Semester

Corporate Secretaryship

BANKING AND INSURANCE

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A                    (10 × 2 = 20)

Answer all questions

1. Define - Banking.



2. Who is a customer?



3. What is negotiable instruments?


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4. What is crossing of Cheque?



5. What is meant by hire-purchase?



6. What is Insurance?



7. Define Risk.



8. What is Insurable Interest?


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9. Write a note on “Nomination”



10. What is Marine Insurance?



Part - B                    (5 × 5 = 25)

Answer all questions

11 a. What are the secrecy to be maintained in Customer’s

Accounts?

   



(OR)

b. State the origin of Indian Banking.


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12 a. What are the types of Endorsements?



(OR)

b. What are the responsibilities of Collecting Banker?



13 a. Explain the leasing Finance.



(OR)

b. Describe banker’s right of appropriation.


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14 a. State the significance of Insurance.



(OR)

b. What are the principles of Risk Insurance?



15 a. What are the types of Fire Insurance Policies?



(OR)

b. State the essentials of the Doctrine of Subrogation.




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Part - C               (3 × 10 = 30)

Answer any three questions

16. Explain the functions of Reserve Bank of India.



17. Explain Banker’s Lien.



18. Discuss the general relationship of banker and

customer.

  


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19. Explain the kinds of Motor Vehicle Insurance.



20. Explain the general principles of Life Insurance

contract.

  



***
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B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

Fifth Semester

Corporate Secretaryship

COMMERCIAL LAW

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A                    (10 × 2 = 20)

Answer all questions

1. Define - Contract



2. What is an offer?



3. What is meant by Voidable contract?


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4. What is contingent contract?



5. What do you mean by Merger?



6. What is an Injunction?



7. Define - Indemnity.



8. What is bailment?


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9. Who is a Pawnor?



10. Define - Agent.



Part - B                    (5 × 5 = 25)

Answer all the questions

11 a. What are the essential elements of a valid contract?



(OR)

b. What are the rules governing consideration?


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12 a. Distinction between voidable contract and void

agreement.

   



(OR)

b. What are the kinds of Quasi-Contracts?



13 a. Explain about Discharge by supervening

Impossibility.



(OR)

b. Write a note on “Discharge by Breach of Contract”.





5 AF-2308

14 a. What are the types of damages?



(OR)

b. What are the Liabilities of surety?



15 a. What are the Requisites of Bailment?



(OR)

b. Write a note on pledge by non-owner.


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Part - C               (3 × 10 = 30)

Answer any three questions

16. Explain the different classifications of contract.



17. What are the elements of fraud? How it differs from

Misrepresentation?





18. Explain about the Discharge of contract.


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19. What are the remedies for Breach of Contract?



20. What are the duties of bailor?



***
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B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

Fifth Semester

Corporate Secretaryship

ECONOMIC LAWS

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A                    (10 × 2 = 20)

Answer all questions

All questions carry equal marks

1. What do you mean by Industrial undertaking?



2. Listout any four functions of Central advisory council.

    



3. What do you mean by concentration of economic power?


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4. What is Monopolistic trade Practice?



5. Current Account Transactions - Explain.



6. Write short note on ‘FDI’.



7. Who is consumer?



8. What is foreign exchange?


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9. Write short note on ‘National Commission’?

‘’

10. What do you mean by environmental pollution?



Part - B                    (5 × 5 = 25)

Answer the questions

All questions carry equal marks.

11 a. What are the benefits available to Small-Scale

industries?



(OR)
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b. What are the criteria for the grant of industrial

licence?

   



12 a. Write a note on: Division of Undertaking.



(OR)

b. List out the role of the MRTP commission in regard

to control of monopolistic trade practice.

MRTP


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13 a. What are the duties of an ‘authorised person’ under

FEMA, 1999?

FEMA, 1999



(OR)

b. What is a capital account transaction? State the

provisions of FEMA with respect to regulation of such

transactions.

    

FEMA



14 a. Listout the objective of consumer protection Act.

   



(OR)
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b. What sort of complaint may be lodged under the CPA?

CPA

15 a. Highlight the salient features of environment

protection Act.

     



(OR)

b. What are functions of environmental tribunal?


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Part - C               (3 × 10 = 30)

Answer any three questions

All questions carry equal marks.

16. Discuss the provisions relating to the licensing of new

industrial undertaking under the IDRA, 1951.

IDRA, 1951



17. Explain about the nature and scope of completion

commission of India.





18. What are the obligations of an exporter of goods and

services out of India? Explain.

     


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19. How the grievances of the consumers are sought to be

protected under the consumer protection Act.





20. List out the regulatory framework procedures for

obtaining various environment clearances.





***
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Part - A                    (10 × 2 = 20)

Answer all questions

1. Define the term Person.



2. Who is called Assessee?



3. What do you know about Perquisites?



AF-2311 BCS E1A
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4. What is meant by Annual Value?



5. What is Cash Credit?



6. When is a gain called short term gain?



7. How the Clubbing of loss is done?



8. What is meant by inter source adjustment?


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9. Who is an assessing officer ?



10. How gross total income is determined ?



Part - B                    (5 × 5 = 25)

Answer the questions

11 a. How the residential status of a Company is

determined?





(OR)
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b. Mr. Ragu an Indian Citizen, Leaves India for the first

time on September 20, 2008 for the purpose of

employment. He comes to India for a visit of 146 days

on April 10, 2009. He comes back on May 16, 2009.

Find out the residential status for the assessment year

2010-11.

 



 

 

     

 



12 a. What are the deductions allowed from Salaries?



(OR)
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b. From the following Particulars, Calculate gross

annual value :

Rs.

Municipal Value 60,000

Fair Rent 65,000

Standard Rent 59,500

Actual Rent 72,000

Loss due to Vacancy 6,000

 





 

 

 

 

 
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13 a. Miss. Kavya Sells the debentures in the year

2009-10. The details are as under:

Sale Consideration Rs. 6,00,000.

Year of acequisition 1998-99 (CII : 351)

Cost of acequisition Rs. 3,00,000.

Calculate Capital Gains. (CII for 2009-10 : 632)



     





 



 

(OR)
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b. Mr. Giri held the following investments :

a) Rs. 89,700, 10% (tax free) debentures of a listed

company. (Rate of TDS 10.3%)

b) Rs. 1,00,000, 12% Punjab Govt. Loan.

Compute his income from interest on Securities for

the year ending 31-3-2010. If interest accrues

annually on January 1st.



     

 

 

 

 


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14 a. From the following information compute Gross Total

Income :

Rs.

Short Term (gain) 8,000

Short Term (loss) 24,000

Long Term (gain) 8,000

Income from betting 12,000

Loss from card games 6,000



 



  

 

 

 

 

(OR)
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b. Mr. Anpu has his gross taxable income (before

allowing this deduction) of Rs. 25,000 and pays rent

of Rs. 600 p.m. at Varanasi. Calculate the amount of

deduction U/s 80GG.

   

    





 80GG   



15 a. How tax liability of individual is determined?



(OR)

b. Explain how the losses of firm is treated.

 


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Part - C               (3 × 10 = 30)

Answer any three questions

16. Give ten examples of incomes which are totally exempt

from income tax.

   



17. What are the powers of commissioner of income tax?

Explain.



18. Mr. Jagan is a production manager at Chennai. The

particulars of his salary income are as under :

Rs.

Basic Salary 15,000 pm

Dearness Allowance (Retirement Benefit) 5,000 pm

Entertainment allowance 1,000 pm

Medical Allowance 500 pm

House Rent Allowance 4,000 pm
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Rs

Rent Paid for the house 5,000 pm

He and his employer (each) contribute 15% of salary to

R.P.F.

Mr. Jagan had taken interest free loan of Rs. 15,000 to

purchase computer.







 

  

  

  

 

 

 


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     





19. The Net profit of Mr. Siva of Madurai as per his Profit

and Loss for the year ended 31-3-2010 after charging

the following items was Rs. 2,40,000.

Rs.

a) Internet on Capital 20,000

b) Salary to staff 1,16,000

c) Office expenses 3,000

d) Bad debts written off 13,000

e) Provisions for bad debts 10,000

f) Provisions for Income-tax 16,000

g) Donations 10,000

h) Depreciation 17,000

Depreciation allowable as per the Act is only Rs. 12,000

Compute income from business.
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 







  

  

  

  

  

  

  

  




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20. Compute the taxable income of Mr. Karthi from the

information given below :

Rs.

a) Taxable salary Income 75,000

b) Income from House Property

i) Let out house 10,000

ii) Self-Occupied House 15,000

c) Capital Gains :

i) Short term capital gain 33,000

ii) Short term capital loss 3,000

iii) Long term capital gain 7,000

iv) Long term capital loss 10,000

d) Other Sources :

i) Income from card games 5,000

ii) Loss from horse race 2,500
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    





  

 

i)  

ii)  

 

i)  

ii)  

iii)  

iv)  
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***

 

i)  

ii)  



1 AF-2312

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

Fifth Semester

Corporate Secretaryship

 Elective—INDIRECT TAXES

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A                    (10 × 2 = 20)

Answer all questions

Each questions carry equal marks

1. Define the term ‘tax’.



2. What is Single tax system?



3. Who is liable to pay excise duty?



AF-2312 BCSE1B
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4. State any two process of Manufacture.



5. What is Customs duty?



6. What do you meant by smuggling?

‘’

7. Define ‘Inter State Sale’.

‘’ 

8. Mention the Categories of Sales.


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9. Which tax is traced to the VAT?

VAT

10. List any two needs of VAT.

VAT

Part - B                    (5 × 5 = 25)

Answer the questions

11 a. Distinguish between direct taxes and Indirect taxes.



(OR)

b. State the special features of indirect taxes.


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12 a. Explain the different bases of Excise duty.



(OR)

b. What are the provisions regarding registration under

Central Excise?

  



13 a. What are the differences between excise duty and

customs duty?



(OR)

b. State the prohibited goods under Customs Act.

    


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14 a. What are the objectives of levy of Sale tax?



(OR)

b. Distinguish between inter-state sale and intra-state

sale.





15 a. Enumerate the advantages of VAT.

(VAT) 

(OR)
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b. Briefly explain the salient features of TNGST Act.

 (TNGST) 



Part - C               (3 × 10 = 30)

Answer any three questions

16. Discuss the Major reforms in Indirect taxation in India.

   



17. Briefly explain the concept of ‘Manufacture’.

‘’

18. Explain the methods of valuation of goods under

Customs Act.

     


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19. Describe sales of purchases in the course of Export or

Import.

    



20. Write short note on the following:

a) Turnover.

b) Total Turnover.

c) Taxable Turnover.



 

 

 

***
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B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION

NOVEMBER 2010

Fifth Semester

Corporate Secretaryship

ELECTIVE - AUDITING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A                    (10 × 2 = 20)

Answer all questions

1. What is Auditing?



2. Give the meaning of Statutory Audit.



3. What is Working Paper?



AF-2313 BCSE2A
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4. Define Internal Control.

 

5. State the meaning of Vouching.



6. State any three objectives of Vouching.



7. What is meant by valuation of an asset?



8. Define Verification.


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9. What is audit report?



10. What do you mean by Misfeasance?



Part - B                    (5 × 5 = 25)

Answer the questions

11 a. Explain the scope of auditing.



(OR)

b. What is error? State it types.


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12 a. What are the disadvantages of Audit Programme?



(OR)

b. State the steps to be taken by the auditor before

commencing a new audit.

    



13 a. What are the duties of an auditor in examination of

vouching?

    



(OR)

b. State the importance of Vouching.


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14 a. Distinguish between vouching and verification.



(OR)

b. How would you verify the following liabilities:

i) Creditors.

ii) Loans.



 

 

15 a. What are the liabilities of an auditor to their parties?

   



(OR)



6 AF-2313

b. What is the liability of an auditor for negligence of

his duties?

   



Part - C               (3 × 10 = 30)

Answer any three questions

16. Explain the various objectives of auditing.



17. Describe the system of internal check as to cash receipts

and cash payments.

     


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18. Explain in detail the vouching of trading transaction.

 



19. Briefly explain the valuation and verification of:

i) Fixed Assets

ii) Investments

iii) Patents

iv) Inventories





 

 

 

 
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20. Discuss about the civil liabilities of an auditor.



***
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B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, NOVEMBER 2010

Fifth Semester

Corporate Secretaryship

Elective—COST ACCOUNTING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

                                      Part A                 (10 × 2 = 20)

Answer all the questions.

1. Define Cost accounting.

AhUPÂø» PnUQ¯À Áøµ¯Ö.

2. Explain Variable cost.

©õÖ® AhUPÂø»ø¯ ÂÍUSP.

AF-2314    BCSE2B
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3. Define Bin card.

öPõÒP» Amøh C»UPn® TÖ.

4. What are the two levels of material control ?

‰»¨ö£õ¸Ò Pmk¨£õmiß C¸ ©mh[PÒ ̄ õøÁ ?

5. What do you mean by apportionment ?

£QºÄ öŒ#uÀ £ØÔ }Âº AÔÁÚ ¯õøÁ ?

6. What is labour turnover ?

öuõÈ»õÍº ”ÇØ] GßÓõÀ GßÚ ?
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7. Define Overheads.

@©ØöŒ»ÄPÒ Áøµ¯Ö.

8. What is notional profit ?

¦øÚÄ »õ£® GßÓõÀ GßÚ ?

9. Give any two examples for selling overheads.

ÂØ£øÚ @©ØöŒ»ÄPÐUPõÚ Euõµn® H@uÝ®

CµsiøÚ u¸P.

10. What is work in progress ?

|øhö£Ö® £o GßÓõÀ GßÚ ?
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Part  B (5 × 5 = 25)

Answer all the questions.

11. (a) Prepare a Cost sheet.

Rs.

 Raw materials consumed 80,000

Wages 20,000

Direct expenses 10,000

Factory expenses at 100% on wages.

Office overheads at 20% on factory cost

Selling and distribution overheads Rs. 5,000

Total sales Rs. 1,70,000.
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J¸ AhUPÂø»¨ £mi¯ø» u¯õº öŒ#P.

   ¹.

 ~Pµ¨£mh ‰»¨ö£õ¸Ò 80,000

T¼ 20,000

@|µia öŒ»ÄPÒ 10,000

öuõÈØŒõø» öŒ»ÄPÒ T¼°À 100%

A¾Á»P @©ØöŒ»ÄPÒ & öuõÈØŒõø»

AhUPÂø» 20%

ÂØ£øÚ ©ØÖ® £QºÄ @©ØöŒ»ÄPÒ ¹. 5,000

ö©õzu ÂØ£øÚ ¹. 1,70,000.

(Or)
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(b) State the objectives of Cost Accounting.

AhUPÂø»U PnUQ¯¼ß @|õUP[PøÍ TÖP.

12. (a) A lorry load of material of  mixed goods was

purchased for Rs. 1,00,000. Later on these were

sorted out into the following categories :

Category A  1000 units  selling price Rs. 20 per unit

Category B 2000 units selling price Rs. 22.50 per unit

Category C 2,400 units selling price Rs. 25 per unit

Find the purchase rate per unit of each category

of the material assuming that all grades yield

same rate of profit.

£ÀÁøP Œõ©õßPÒ P»¢u ö£õ¸mPÒ J¸ »õ›°À

öPõÒ•uÀ öŒ#¯¨£mh öuõøP ¹. 1,00,000. C¢u

ö£õ¸mPÒ ¤ÓS RÌUPshÁõÖ ÁøP¨£kzu¨

£mhÚ.
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ÁøP A  1000 A»SPÒ Kº A»Qß ÂØ£øÚ Âø» ¹. 20

ÁøP B 2000 A»SPÒ  Kº A»Qß ÂØ£øÚ Âø» ¹.22.50

ÁøP  C 2,400 A»SPÒ  Kº A»Qß ÂØ£øÚ Âø» ¹. 25

GÀ»õÁøP ö£õ¸mPÐ® »õ£zøu Œ© AÍÂÀ

Dmizu¸® GÚ {øÚzxU öPõsk JÆöÁõ¸

ÁøP ö£õ¸ÐUS®, J¸ A»QØPõÚ öPõÒ•uÀ

Âø»ø¯ Psk¤iUPÄ®.

(Or)

(b)      Find out EOQ from the following data :

Annual requirements 1,600 units ;

Cost of material per unit Rs. 40 ;

Cost of placing one order Rs.  50 ;

Carrying cost 10%.
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RÌU Põq® uPÁÀPÎ¼¸¢x ]UPÚ Bøn

AÍøÁU PõsP.

@uøÁPÒ BsiØS 1,600 A»SPÒ

J¸ A»Qß ‰»¨ö£õ¸Ò AhUPÂø» ¹. 40

J¸ AÝ¨£õøÚ CkÁuØPõÚ öŒ»Ä ¹,50

Gkzx Á¸ÁuØPõÚ öŒ»Ä 10%

13. (a) From the following data calculate the labour

turnover under Flux method and Replacement

method.

   Number of workers at the beginning of the month    500

    Number of workers at the end of  the month    600

During the month 25 workers left. 75 workers were

recruited of these 10  workers are re cruited in

the vacancies of those leaving while the rest were

engaged for an expansion scheme.
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R@Ç öPõkUP¨£mh Â£µ[PÎ¼¸¢x

öuõÈ»õÍº ”ÇØ]ø¯ ¨ÍUì •øÓ ©ØÖ®

£v»õÍ©º¢u •øÓ BQ¯ÁØÔÀ PnUQkP.

©õuzvß xÁUPzvÀ öuõÈ»õÍºPÎß GsoUøP 500

©õuzvß CÖv°À öuõÈ»õÍºPÎß GsoUøP    600

|øhö£ØÓ ©õuzvÀ 25 öuõÈ»õÍºPÒ Â»Qa

öŒßÓÚº. 75 öuõÈ»õÍºPÒ @uº¢öukUP¨

£mhÚº. CvÀ 10 öuõÈ»õÍºPÒ Â»Qa

öŒßÓÁºPÐUPõPÄ® ©ØÓÁºPÒ Â›ÁõUP

vmhzvØPõPÄ® @uº¢öukUP¨£mhÚº.

(Or)

     (b) Using the following data, calculate the earnings
of a worker under :

(i)   Halsey plan

(ii)  Rowan’s plan

Rate per hour   :   Rs. 2
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Time taken        :   15 hours

Standard time   :   20 hours

¤ß Á¸® Â£µ[PøÍ¨ £¯ß£kzv J¸

öuõÈ»õÎ°ß Fv¯zøu RÌUPsh •øÓPÍõÀ

PnUQkP.

(i) íõÀ@Œ vmh•øÓ (ii) @µõÁõß vmh•øÓ

Fv¯ ÂQu® ©oUS  :  ¹. 2

GkzxU öPõsh @|µ® : 15 ©o

vmh @|µ®  : 20 ©o

14. (a) Distinguish between Cost allocation and Cost
apportionment.

AhUP JxURmiØS® ©ØÖ® £Qº¢uÎ¨¤ØS®

Chø@¯ EÒÍ @ÁÖ£õkPÒ ̄ õøÁ ?

(Or)
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    (b)    Write a note on :

(i) Wastage

(ii) Spoilage

]Ö SÔ¨¦ ÁøµP.

(i)  @Œu©øh¢u ö£õ¸Ò

(ii)  E¸USø»¢u ö£õ¸Ò

15. (a)   What is process costing ? How is it differ from Job
  costing ?

£i•øÓ PnUS GßÓõÀ GßÚ ? £o•øÓU

PnUQ¼¸¢x Ax GÆÁõÖ @ÁÖ£kQÓx ?

(Or)

       (b)     A product passes through two processes. During
March 2010, 500 finished units were produced
with the following expenditure :



12 AF-2314

Particulars  Process A (Rs.)  Process B  (Rs.)

Direct material 3,500 1,600

Direct labour 2,500 2,000

Overhead expenses amounted in all to Rs. 1,400.

They are to be apportioned on the basis of direct

wages. Ignoring the question of stock, prepare the

process accounts.

J¸ ö£õ¸Ò Cµsk £i•øÓPøÍ Ph¢x

öŒÀQÓx. ©õºa 2010 RÌUPõq® öŒ»ÄPÐhß

500 {øÓÄØÓ A»SPÒ u¯õ›UP¨£mhÚ.

Â£µ®  £i•øÓ A (¹.)  £i•øÓ B   (¹.)

@|µi ö£õ¸mPÒ 3,500 1,600

@|µi T¼ 2,500 2,000
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ö©õzu©õÚ @©ØöŒ»ÄPÒ ¹. 1,400. Ax

£i•øÓPÐUS  @|µi T¼ ÃuzvÀ £Qº¢uÎUP¨£h

@Ásk®. ŒµUQ¸¨ø£ ¦ÓUPozx @uøÁ¯õÚ

£i•øÓ AhUPÂø»U PnUSPøÍ u¯õ›UPÄ®.

Part C (3 × 10 = 30)

Answer any three questions.

16. Explain the classification of Costs.

AhUPÂø»°¯¼ß ÁøPPøÍ ÂÁ›.

17. Two components A and B are used as follows :

Average consumption 40 units

Normal usage  50 units per week each

Minimum usage 25 units per week each

Maximum usage 75 units per week each
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Re-order quantity for A – 300 units and for

B – 500 units

Re-order period for A – 4 to 6 weeks and for B – 2 to 4

weeks

Maximum lead time for emergency purchases for A – 1

day and for B – 2 days.

Calculate for each component

(i) Re-order level

(ii) Minimum level

(iii) Maximum level
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(iv) Average level

(v) Danger level

Cµsk TÖPÒ A ©ØÖ® B RÌUPshÁõÖ

£¯ß£kzu¨£mhÚ.

ŒµõŒ› ~PºÄ 40 A»SPÒ

Œõuõµn £¯ß£õk & JÆöÁõßÖ® 50 A»SPÒ J¸

ÁõµzvØS

SøÓ¢u £mŒ £¯ß£õk & JÆöÁõßÖ® 25 A»SPÒ

J¸ ÁõµzvØS

AvP £mŒ £¯ß£õk & JÆöÁõßÖ® 75 A»SPÒ J¸

ÁõµzvØS

©Ö Bøn AÍÄ & A 300 ©ØÖ®  B-500  A»SPÒ
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©Ö Bøn  Põ»® & A, 4 •uÀ 6 Áõµ[PÒ ©ØÖ® B,

2 •uÀ 4 Áõµ[PÒ

AÁŒµ öPõÒ•u¾UPõÚ AvP£ha Põ» AÍÄ

A&1 |õÒ ©ØÖ® B&2 |õÒ

JÆöÁõ¸ TÖUS®

(i) ©Ö Bøn {ø»

(ii) SøÓ¢u AÍÄ {ø»

(iii) EaŒ AÍÄ {ø»

(iv) ŒµõŒ› ŒµUQ¸¨¦ {ø» ©ØÖ®

(v) A£õ¯ {ø»ø¯ PnUQkP.
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18. From the following particulars workout the earnings

for the week of a worker under :

(a) Straight Piece rate system

(b) Differential Piece rate system

(c) Halsey premium system

(d) Rowan system

Number of working hours per week 48

Wages per hour Rs. 3.75

Rate per piece Rs. 1.50

Normal time per piece 20 minutes
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Normal output  per week 120 pieces

Actual  output for the week 150 pieces

Differential piece rate : 80% of piece rate when

output is  below standard and 120% when above

standard.

R@Ç öPõkUP¨£mkÒÍ Â£µ[PÎ¼¸¢x

öuõÈ»õÍ¸US J¸ ÁõµzvØPõÚ Fv¯zøu

(a) @|µi E¸¨£i T¼ ÂQu®

(b) @ÁÖ£mh E¸¨£i Ãu•øÓ

(c) íõÀ@Œ •øÚ©z vmh®

(d) @µõÁõß vmh® BQ¯ÁØÔß £i  PnUQkP.
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J¸ ÁõµzvØPõÚ @Áø» ©oPÎß GsoUøP 48

J¸ ©oUPõÚ T¼ ¹. 3.75

J¸ E¸£iUPõÚ öuõøP ¹. 1.50

J¸ E¸£iUPõÚ Œõuõµn @|µ® 20 {ªh[PÒ

J¸ ÁõµzvØPõÚ Œõuõµn EØ£zv AÍÄ 120

E¸¨£iPÒ

J¸ ÁõµzvÀ EØ£zv öŒ#¯¨£mhøÁ 150 E¸¨£iPÒ

@ÁÖ£mh E¸¨£i Ãu T¼ : {ºn°UP¨£mh

AÍÂØS
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SøÓÁõP EØ£zv AÍÄ C¸US® ö£õÊx E¸¨£i

Ãu T¼°À 80% , ® Tku»õP C¸US® ö£õÊx

120%-&® ÁÇ[P¨£h @Ásk®.

19. The following data were obtained from the books of Sun

Engineering Company for the half year ended

31st March 2010.

Particulars  Production Departments Service Departments

P1 P2 P3 S1 S2

Direct wagess Rs.  7,000 6,000 5,000 1,000 1,000

Direct material Rs. 3,000 2,500 2,000 1,500 1,000

Employees – Nos 200   150   150   50   50

Electricity - kWh 8,000 6,000 6,000 2,000 3,000

Light points Nos 10   15    15    5       5
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Asset value – Rs. 50,000 30,000 20,000 10,000 10,000

Area occupied

(Sq. meters)   800   600   600   200   200

The expenses for the six months were : stores overhead

Rs. 400 ; Motive power Rs. 1,500 ; Electric light Rs. 200 ;

Labour welfare Rs. 300 ; Depreciation Rs. 6,000 ;

Repairs and maintenance Rs. 1,200; General overheads

Rs. 10,000 ; Rent and taxes Rs. 600.

You are required to prepare primary overhead

distribution summary for the departments showing

clearly the basis of apportionment where necessary.

R@Ç öPõkUP¨£mkÒÍ Â£µ[PÒ Œß Cg]Û¯›[

P®ö£Û°ß ¦zuPzv¼¸¢x Aøµ¯õsk CÖv¯õÚ

31 ©õºa 2010 US ö£Ó¨£mhx.
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Â£µ[PÒ  EØ£zv xøÓPÒ @ŒøÁ xøÓPÒ

P1 P2 P3 S1 S2

@|º•P

T¼ (¹.)  7,000 6,000 5,000 1,000 1,000

@|º•P

ö£õ¸Ò (¹.) 3,000 2,500 2,000 1,500 1,000

öuõÈ»õÍºPÒ&

GsoUøP 200 150 150 50 50

ªß ŒUv& Q@»õ

Áõmì ©o 8,000 6,000 6,000 2,000 3,000
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ªß ÂÍUSPÒ&

GsoUøP 10 15 15 5 5

öŒõzx

©v¨¦ (¹.) 50,000 30,000 20,000 10,000 10,000

AÖ@£õP Ch®&

Œxµ«mhº 800 600 600 200 200

BÖ©õu Põ»zvÀ HØ£mh öŒ»ÄPÒ Á¸©õÖ :

CÖ¨£øÓ @©ØöŒ»ÄPÒ ¹. 400

C¯US ÂøŒ ¹. 1500

ªß ÂÍUS ¹. 200

öuõÈ»õÍº |»ß ¹. 3,000
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@u#©õÚ® ¹. 6,000

£Êx £õºUS® ©ØÖ® £µõ©›¨¦ öŒ»Ä ¹. 1,200

ö£õx @©ØöŒ»ÄPÒ ¹. 10,000

ÁõhøP ©ØÖ® Á› ¹. 600

öŒ»ÄPÒ AøÚzøu²® xøÓPÐUS @uøÁ¨£k®

Ch[PÎÀ ö£õ¸zu©õÚ •øÓ°À £Qº¢uÎzx

•ußø© @©ØöŒ»Ä £QºÄ Põmk® £mi¯ø»

u¯õ›UPÄ®.

20. Product X is obtained after it passes through three

distinct processes. The following information is available

for the operation :
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Process

 Total  I II III

Materials 5,625 2,600 2,000 1,025

Direct wages 7,330 2,250 3,680 1,400

Production

Overheads 7,330     –     –     –

500 units at Rs. 4 per unit were introduced in process I

production overheads are absorbed as a percentage of

direct wages. The actual output and normal loss of the

respective process are :
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Output Normal loss   Value of

Units on Input Scrap unit

Process I  450 10% 2

Process II 340 20% 4

Process III 270 25% 5

There is no stock or work in progress in any process

show  :

(a) The three process accounts.

(b) The Abnormal loss and Abnormal gain accounts.
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‰ßÖ £i•øÓPøÍ Ph¢u ¤ÓS X GßÓ ö£õ¸Ò

QøhUQßÓÚ.

  £i•øÓPÒ

ö©õzu®  I II III

‰»¨ö£õ¸Ò 5,625 2,600 2,000 1,025

@|µi T¼ 7,330 2,250 3,680 1,400

EØ£zv

@©ØöŒ»ÄPÒ 7,330     –     –     –

A»S JßÖ ¹. 4 Ãu® 500 A»SPÒ £i•øÓ  I&À

ÁÇ[P¨£mhÚ.  EØ£zv @©ØöŒ»ÄPÒ @|µi T¼

ÂQuzvÀ «mP¨£kQßÓÚ. £i•øÓ°À EØ£zv

©ØÖ® Œõuõµn |mh[PÍõÁÚ.
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EØ£zv £i•øÓ ~øÇÄ   PÎ¨¦

A»SPÒ A»Qß «x         ö£õ¸mPÒ

Œõuõµn |mh®    ©v¨¦ A»S

JßÖUS

£i•øÓ I    450   10% 2

£i•øÓ II    340   20% 4

£i•øÓ III    270   25% 5

G¢u £i•øÓ°¾® •iÄ Aøh¯õ £o •ß@ÚØÓ®

Qøh¯õx. Põs£õ# (A) ‰ßÖ £i•øÓ PnUSPÒ

(B) AŒõuõµn |mh® ©ØÖ® AŒõuõµn Buõ¯

PnUSPÒ.
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